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1. Specification Review ( A5 )

1.3 Stage 2040 OOD

Exceptional Courses of Events

Line 3: & Unit(X, &, A|, &, &, )0 BAX0 =232 &
£ 105 unit® &2 57A17|0 BHAX 0] 28 unit®l &S
Hr2 020

(IH, %4, BHX = LocalDateTime. MIN,

LocalDateTIme. MAXO] 2[A 3L} )

LocalDateTime2| Z[CHZ|A 410 CHSHM = A|AE
HAE =7t

-> (A 2E HAE oAM= 00-992 40| Br= K|
Lt o, 889| Xj2|= #2050 RYU0| X[5t= A

I b D t
Sk A O o
2t Olsh o= QIOIZ)

-> Hg Het & Unit test =& =2 2R




1. Specification Review ( A5 )

1.3 Stage 2040 OOD

Exceptional Courses of Events

Line 4 : Case Number?] 3/CH(00) 22 2428 1 22 0
H o 70 AT A0E SO0 7T ak, 4480
gol +H2 202 BABIC

Actor User

Purpose global ime2 2 0|Z T A|& DELC}

Overview MEX7 HES S global tmeS 20{E T A|& 1 ELCH
Type Evident

Pre - Requisites # 7 Mode+ global time 2 =0]0f $HC}

Typical Courses of Events

(A) : Actor (S) : System
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Test Mo, Use case
1 Set current time
2

3 Set timer

A

5 Start timer

6 Stop timer
7 Reset timer

8 Motify the end of Timer

9
10 Start stopwatch
1 Pause stopwatch
12 Record laptime
13 Show Laptime

A

15 Clear stopwatch
16

17 Activate alarm
18

19 Dreactivate alarm
20

21 Switch alarm

22 Set alarm

23

24 Notify the alarm
25 Set case number
26 Get case

27 Switch city

28 Switch mode
29

30 Select mode

31 Activate beep
32 Deactivate beep
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6. Notify the end of timer
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16. Notify the alarm
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Timekeeping.
Set year.

Set month.

Set day.

Set hour.

Set minute.
S5et second.
Stopwatch.

S5top stopwatch.
Lap time.
Timer.

S5top timer.
Set timer hour.

Set timer minute.
Set timer second.

Alarm.
Set alarm hour.

Set alarm minute.

DecisionMaker.
Set DCM.
WorldTime.
ModeSetting.

[ property
[ property
[ property
[ property
[ property
[ property
[ property
[ property
[ property
[ property
[ property
[ property
[property
[ property
[ property
[property
[ property
[ property
[property
[ property
[ property
[ property

TKM]
SETY]
SETMO]
SETD]
SETH]
SETMN]
SETS]
STM]
S5TM]
LAP]
TMR]
STMR]
TH]
™]
5]
ALM]
AH]
AM]
DCM]
SETDCM]
WLT]
MS]
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14370 2| test case & 1397l &1t (47l Fail)

Test Case 62 (Key = 11.4.0.) |F Test Case 133(Key=19.7.0.) F

Mode : Timer Mode : DecisionMaker
Button : 5T Button: longMO
Value : =<n/fa> Value - -::nfa}

Timer 7| = SlHMA 5T HE 2121 )
ElolH 2E =3

Test Case 63 (Key =11.7.0.) F

DecisionMaker 7| 2 FPHMA] set case MY
Al, =HH HEH)| HHLEA %S 27 S
Test Case 105(Key =16.7.0.] |F

Mode : Timer Mode : Alarm
Button : longMO Button : longMO
Value : =<nfa= Value : =nfa>

EfO|H 7| = SPHM A Set timer time J Y

_ Alarm 7|2 FHHMH A set alarm time2 =
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. ing Z3f WL I D4 mE
mode : timekeeping.set vear,set month,set dav,set hour.set minute,set second,Stopwatch,stop stopwatch, lap 1 SyStem teStIng EJ— 7 = I:I-L le—‘l_ I:I} 1L e
time,timer,stop tiner,set timer hour,set timer second,alarm,set alarm hour,set alarm minote, decision maker, set

decision maker,world time, mode setting H—Il.l O'” [[l'E_l' test case XH Actl Ac;l

value:valid, invalid,nothing

ti':eilmﬁz]lu;? {:"Filgﬁﬁniaﬁglil?g","stopwatch","stnp stopwatch”™, "timer”, "stop timer”,"alarn”, "decision maker”™, "world time"} -S> |ﬂput Value pal’ametel’% El_l-_/l_lﬁél_'c')'l_o:l reflneEl_l

if [mode] like "set +" then [button] in {"re”,"st"};

if [mode] = "timekeeping” then [button] in {"mo”,"longad”,”longma”}; teSt case g-l é;l

if [mode] = "stopwatch” then [button] in 1"ad”,"mo”,"st”, " longad”t:

if [node] = "stop stopwatch™ then [button] in {"re”,”st”, " lonana”};

if [mode] = “"timer" then [button] in {"mo","st","langad", " lonann"}; o 7 AH A

if [mode] = "stop timer” then [button] in {"re”,"st"}; .

if [mode] = "alarn” then [button] in {"ad".,"re"."ma", "st"}; -> PICT A|-<D EJ_—Il- . teSt case 597H O O

if [mode] = "decision maker” then [button] in {"longad”, "lonamo”, "ma", "st"};

if [mode] = "decision maker” then [button] in {"re”,"mo”, "st"};

if [mode] = "warld time” then [button] in {"longad”,"re”, "mo", "st"}

if [mode] = "world time” then [button] in {"ad”,"ma","st"};

if [mode] = "set decision maker” then [valuel in {"valid", invalid"};

if [mode] = "set wear” and [button] in {"re"."st"} then [value] in {"walid","invalid"}; 7 O = 7 E_I 7 I 5? 59 96,6%
if [mode] = "set month” and [button] in {"re”,"st"} then [value] in {"valid”, invalid"}: 59 H—l teSt Case S 57 H OJ_l- (2 H Fall ; ( )
if [mode] = "set day” and [button] in {"re”,"st"} then [valuel in {"valid",“invalid"};

if [mode]l in {"set hour","set alarm hour”,"set timer hour"} and [button] in {"re","st"} then [value] in
{"valid”, "invalid"};

if [mode]l in {"set minute”,"set alarm minute”, "set timer minute"} and [button] in {"re","st"} then [value] in
{"valid","invalid"};

if [mode]l in {"set second”,”set alarm second”,set timer second”} and [button] in {"re”,"st"} then [valuel in
{"valid","invalid"};
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1 timer st nothing F Timer 7|2 SHRAA ST ¥

ol %Y =Y
2 Stopwatch st nothing P =ol =



5. Static Analysis( A5 )

5-1. Overview

28 #-.. |BUG

3 =z |Vulnerability

vz @

24 @

'1 D Security Hospots G oﬂﬁ% Beaeaed Security Raview G
58% = 1.6k ®==== 2rezd @)
O 35.8% - ® 4.3% 12
Coverage on BT5 Lines 1o cever Uriit seats Dupications on 1.6k Lines Duplicated blocks
ACTIVITY
o= - = Bups = IS YUY - FHEZ 20208 68 7Y
1.0 ]
EL ZEDT: changes in 'soltwarev_v"
1.5 (Java)
1k 20 6H TR
ET ZEDT: Use 'softwarev_v' (Java)
500 ET ZEDT: Stop using 'softwarev_v'
{Java)
o 200048 68 139
o s g EE Z20Y: stop using 'Sonar way' (Java)
\ﬁ:{ ‘ﬂ‘ ¥ ST ZEDFE: Use ‘softwarev_v* (Java)
2020 & 2y
~ Aotivity EE HUE: Red {was Green)

SonarAnalyzer Java 44
FindBugs Java 44
FindBugs Contrib Java 307
PMD Java 268
Checkstyle Java 172
Find Security Bugs Java 15
PMD Unit Tests Java 17
Common Java Java 6

SonarqubeO| M A2
profileS ‘485t PMD,
Findbug, Checkstyle
rulesetg T7etCt,

1. PMD, checkstyle,
findbug O| &

H: 670 FYE : 374
code smell : 120074

2. T+blocker,major,critical
tag rule set

H 1 : 287H FFH : 370
code smell : 16007




e

RDM.RDMSystem.makeMainDateTime String(String, LocalDateTime, int, boolean)
concatenates strings using +in a loop Why is this an issue?

¥¥ Bug~ @ Major> O Open~ ZEEX| %S~ 30mineffol IHE

A Administrator loop2 PHH|A string 2XRZEE0| + AMAS 0| 2804 concat
-» Stringbuffer(builder)Lt concat AHE

e EFEPNICS2D g = (GraphicsD)newInage. getGraphics();

Method GUI.IconLoader.recolorimage(Bufferedimage, Color) allocations a java.awt.Graphics object without
disposing it Why is this an issue?
¥ Bug* @ Major= O Open~ TEET| %2- ITE

A Administrator Graphics 25 S HEJ| W 2ET L A AHFA U2 -= dispose()S Edf oiH

GEYos MU FQ M5 B8
0]

; 1
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Il
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>~ |l
rir
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In

->StringbuilderL} concat g Al
g #n

Graphics 24 M| S M-dstn XA}
X| 84S, dispose() AFHE A1




5. Static Analysis( A5 )

5-3. Vulnerability

[ e g o mn g

File iconDir = new FilEEEatht; File system01| EE‘?’-"E input

parametergE AlS

This API {javafio/File.<init={Ljava/lang/String;)V) reads a file whose location might

hﬂwﬁﬂfiwm”"?m m""imimj:“? S ->FilenameUtils.getName() M2
B Vulnerabilty * ) Major» () Open~ TP %S~ IHE C Al

A Administrator A|2-2 file systeml] E2E £ 0= HOH MO 2RI HZ £ 02

Method RDM.ROMSystem.decodeButtoninput( String) orders expressions in a conditional in a sub optimal

Way Why is this an issue? If= LHO|| 5 7}X| O|AF ZZHO0| ALE
¥ Bugv @ Majrv () Openv ETEN B2 v 4= 2 4% SM=2E X|-Holl= A2
=Tl

A Administrator #2 HOM 7 710 ZHE ASE B, 2He9E NFolM 282 45 AL =

10




5. Static Analysis( A5 )

5-4. Code Smell

private BufferedImage img;

Make "img" transient or serializable. Why is this an issue?

& Code Smell v @ Criticalv O Open~ TEEX| & ~ 30mineffot SAHE

|_A Administrator S22 X215t = S5§ 244 G|O|E{2] ZtS HIO|== BT Z A3

The Cyclomatic Complexity of this method "decodeButtonlnput” is 66 which is greater than 10 authorized. | 4% &+ [254 &
Why is this an issus?

@® Code Smell+ § Criical+ O Openv ZZLX %2+ hminefod IHE § Notags v
HehcturmiscodetomtnestnmrelhanSiMmMilervﬂtchlﬁysmtunantsImyhum anissue? R 126 &
() Coe el + ) Crlca+ () Openv B350 42+ tminefon 2HE § ot »

—

Ho| X BtE o HHM|HI0|H 9| 4k
= HIO|EZ HHZ A1 (2 F A|LH
01I*1 ME7IsdWU=0) -> & Al G
Ol &2 &X|

Cyclomatic ComplexityE S7tA|7|&
=0 Chet Bk EXY

-> CEA|ZHO] s ZASHY| Oj2 2 202
Z won't fix2 &

if/for/while/switch/try —.E. TE=
cognitive complexityg =0|E=E XY
Slete A2

F
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5. Static Analysis( A5 )

5-4. Code Smell

Remove this throws clause. Wiy s i ancsue?
0 @ Code Smel » @ Blocker+ () Openv BSER B2 v fimineft 342
A Administrator man 200 teow 2700 22 tycaeh 01 & 44N et A1

R L Y T

¥ lofags»
T4

Rename method “qetLaptime" to prevent any misunderstandinglclash with method “getLapTime" defined on line 3.

Why iz this an issue?
J @ Code Smel + @ Blocker» O Open~ Z2I[X L2+ 10min efort ZHZ
A Administrator @ovemide| FHTHEC 28, @ovemide 77t 2.4

WEHe 119 % Y-

§ Nofags -
ESN |

Add a default case to this switch. Why is this an issue?
O @ CodeSmell» @ Crifical * O Open> T2 %S+ Sminefiot IHE
A Administrator defaull case Z7}517| S 31

NLFH~ 163 % T
W lotags =
12Z2H ¢ §

1 9)

1. SwitchO| Al default® F7t

2. @override notation 7}

3. else 20 curly bracket A
4. if.else £22 Dfxl':”o else®
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5. Static Analysis( A5 )

5-5. Code Coverage (Cobertura)

Coverage 35.8%
FHHE Y 875
AH LA &2 & 485
SHE A B A 44.6%
AHE EH Gor
AHE A B2 £ 499
4 HHS A 24.0%

Cobertural| &4 Z21r=
SonarQubeZ T EHIS|A Odefj==
gtol 22 (222, line coverage,
condition coverage)0i [zt E 3|
7ts

AL HHE|X]
35.8%

Coverage

0.0%

20.0%

40.0%

60.0%

30.0%

100%

SER

O :

0 20 100 150 200

Complexity

Ho| 37| AHEX] B2 2relef 4

LS —
oo

431 Qx| : HH{E/X| Qe atelo
H 8
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5. Static Analysis( A5 )

5-6. Cyclomatic Complexity

Complexity 381 New Code: 202013 58 202 0|= CyC|Omat|C CompleX|ty : E-” ﬁE;—” Ol ﬁ 9—' H—l

e o 21X 100%8 BEEST| 98 Al aBol A
2 srcimainfjavaRDMTimer java 23 E ? | Ol A AL EEE =1 = = P e

B sre/mainfjavaRDMTimeKeeping.java 19 - -I - _I_ === 'I"Ir { G} - E;‘ | = ( j{j _l T = 1

2 srcimainfjavaRDM/Alarm java 18

[ sr/mainjavaiGUlMainScreen java 14 oy e . . C Ol | .I.H -I—|_ | Al
2 srcimainfjavaRDM/StaticTime java 14 C O g n Itlve C O m p | eX Ity . i —_— O O O 7 T
B stdmainajava!GUl.fBLﬂto.n.-java | 11 _SI_ IO-I E

2 srcimainfjavaRDM/DecisionMaker java 11

2 srcimainfjava/GUN conLoader java 9
2 srcimainfjavaiGUlModelcon java 9
B srcimainfjavaRDM/Beep java 3 C I t ° C I ° t ° 3 8 1
2 srcimainfjavaRDMMWordTime java 7 yc o m a I c o m p eXI y °
B srcimainfjava/GUIRDMMAain java 4
2 srcimainfjavaiGUIBackground java 3
B srcimainfjava/GUISubScraen java 3
2 srcimainfavaRDMMode java 1 "l _1 0 E}-;II:-_ EEJ EDH.! _?_l % J.c‘; |ilr%
2 srcimainfjavaRDM/Callback java 0
B srefmainfavaROM/LapTime_Callback java 0 1 1 '20 E|.--1J|:.‘- Efﬂ- I- ﬁil EDHJ -?-IE Aa-l %?—F
2 srcimainfjavaRDM/StopWatch_Callback java 0
= HXIE I OlF A O
I scimainjavaRDMTimeKeeping_Callback java 0 21-30 B _EJ%‘ Tl-g c-’l o8
B sreimainfavaRDMTimer_Callback java 0 51 Olg E.“ AE E-jl.%ﬂ- Eg:’_gr _?_lg )c:! ﬂ“_?_ e —
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5. Static Analysis( A5 )

5-7. Unit Test Result (in Jenkins)

SonarqubeOf| Al unit test 24 AS0| 2tE|A jenkinsO| A 2| unit test report ZurE

Test Result

52 (1)

Aot BE HAE

[t

El
<
>
|m
o
fujo
o
e
e
1

HAE D

% RDM.AlarmTest.notifyAlarm()

4 RDM RDMSystemTest decodeButtoninput()

4 RDIM.WorldTimeTest chooseCity()

& TEST TimerTest Notify TheEndOfTimer()

4 TEST.TimerTest PauseTimer()

ZEH2E

Package
RDIM

A

28 sec

HAHE (==
0

TEST

8 sec

0

a)\!}.:" = o=




6. Issue Tracking ( A5)

6-1. 15t System Testing

4 DWS_system / 1st_system_testing (31)(0, 19, 12, 0)
4 First_test suite (31)(0, 19, 12, 0)
=] dws-1:5et_current_time
=] dws-2:Set_cument_time_2
=] dws-3:5et_timer
=] dws-4:Set_timer_2
=] dws-5:Start_timer
=] dws-6:Stop_timer
=] dws-T:Reset_timer
=] dws-8:Notify the end of Timer
=] dws-9:Notify the end of Timer_2
=] dws-10:Start stopwatch
=] dws-11:Pause stopwatch
=] dws-12:Record laptime
=] dws-13:Show Laptime
=] dws-14:Show Laptime_2
=] dws-15:Clear stopwatch
=] dws-16:Clear stopwatch_2
=] dws-17:Activate alarm
=] dws-18:Activate alarm_2
=] dws-19:Deactivate alarm
=] dws-20:Deactivate alarm_2
=] dws-21:Switch alarm
=] dws-22:Set alarm
=] dws-23:5et alarm_2
=] dws-24:Notify the alarm
=] dws-25:5et case number
=] dws-26:Get case
=] dws-28:Switch mode
=] dws-29:Switch mode_2
=] dws-30:Select mode
=] dws-31:Activate beep
=] dws-32:Deactivate beep

TestLink

Redmine

6y 14:41 ZF #34: Deactivate beep
ZEO FSN &2
Link to TestLink Execution: hitp://54.227.102.252: 81 testlink/ltx. php Pitem=exec&festure_id=338build_id=15
Userame LastName Admin

|l 12:58 ZF #34 (47): Deactivate beep
Beep O 10 O/ L AF/E 22, FAX QL7
UserName LastName Admin

k5> 14:41 EE £33 Activate beep
EEO S5 &2
Link to TestLink Execution: hitp://54.227.102.252:81 ftestlink/ltx. php fitem=exec&feature_id=328build_id=15
UserName LastName Admin

lo) 13:55 ZF #33 (45): Activate beep
55 Beep £F A, SUEW oIt PA) FEFEF
UserName LastName Admin

[5h 14:41 BE #32; Select mode
EmESHE &2
Link to TestLink Execution: hitp://54.227.102.252:81 ftestlink/ltx. php fitem=exec&feature_id=31&build_id=15
UserName LastName Admin

kil 13:59 EF 232 (7F): Select mode
JiE 0 4 DY O/pE R Er FF0| 57
UserName LastName Admin

55 14:40 ZF #28: Get case
HES FEA BOE FTHE EHE ZH
Link to TestLink Execution: hitp://54.227.102.252: 81 ftestlink/ltx. phpitem=exec&featurs_id=2...
UserName LastName Admin

kil 13:59 B #28 (M) Get case
108 04 FEAS O, FEE0 B0
UserName LastName Admin

5> 14:40 ZE #27: Set case number
casenumber= 2 24 52
Link to TestLink Execution: hitp://54.227.102.252: 81 ftestlink/ltx. php fitem=exec&feature_id=26&b...
UserName LastName Admin

kil 13:58 T #27 (47): Set case number
caseNumberS/ w50 BHE HF 24 O/S0/TEL
UserName LastName Admin
55 14:40 ZF #26: Notify the alarm
EEO FUEE
Link to TestLink Execution: hitp://54.227.102.252: 81 ftestink/ltx. php fitem=exec&feature_id=27&build_id=15
Userlame LastMame Admin
bl 13:58 Z8 £26 (¢I7): Notify the alarm
2B IS0 MYL0f QY OIE 2E0) ST
UserName LastName Admin

[ as am TARE 4704 Cak alaem

16




6. Issue Tracking ( A5)

6-2. 25t System Testing

o7 09:09 BE #12 (S)ZE): Start stopwatch
UserMame LastMame Admin

¥ 05103 TF £28 (51Z): Get case
UserMame LastMName Admin

- 0 : - . e . .
kD 09:04 Q% #27: Set case number B - ']St System test”‘]g O-”A-I 6%?_'- 7E:| OI:II-O-” EH ol_l- PaSS /Fa||
DecisionMaker 7S SEHA et case &E A, 1 S0 Zolofy B 4o O
Link to TestLink Execution: http://54.227.102.252:81 test]. .. 74 _I__I_l- H A
UserName LastName Admin = - O

ko osi01 BE £24: Set
Alzrm 712 55
Link to TestLink E

- - 2st System testingOfl A pass® &A% : Z&(A) -> i
set alarm time 22 &2 4] 2 FF Zaly 4

wtion: http:/f54 227 102 25281/ testlink/ltx.php. .. ?E
UserMName LastMNa Admin

054 2% £2 (348): Dctvate larm_2 - 2st System testing®| | failel 4% : 2&HE 7A

Link to TestLin\Execution: http /54 227 102 252 81/ testlink/Itx. phpritem=execkfeature_id=238&build_id=15
UserMame Lastiame Admin

UserMame LastMame AdminO|(7F) 2F 2A|17F S0 B35

DecisionMaker 7| = =tHH A set case TY Al, =T HZT0| ZHLHA| B2 7 2=

Link to TestLink Execution: & http://54.227.102.252:81/testlink/Itx. phpTitem=exec&feature_id=26&build_id=49

17




6. Issue Tracking ( A5)

=X

6-2. 25t System Testing

=7|8te U Hojx] z2RE Fa] cgwm

2st t testi
DWS_system SYSEEEESTnE
2020/06/17 11:27

e 2A

Gantt A= = 2 AE H AR EE EMULTH
Static Analysis Report
HEE] Of| A S A O
2020/06/17 11:30 H IO'I A XI'—I—OI' IEE System
> 8 TH 24 234 LU Testing, Static AnaIyS|s Report
o 2 M = =
= 9 7en @7 Redmine A2 S5
] # v 73 HE FH=9 H= B HE
O 50 [Static]Code Smell ‘.‘_l-ﬁ Make it transient or serializable I 2020/06/17 11:17 ==
s g 2020/06/17 11:17  »=

O 4s [Static]Vulneraility 7 ROM. RDHSystem() accesses list or array with constant index 2020/06/17 11:16 ==
O 47 [Static]Code Sm 7 "If... else if" constructs should end with "else" clauses 2020/06/17 11:13 == = Ol |.2 2 —'—l_
O 4s [Static]Vulnerability \&! AFI reads a file whose location might be specified by user input 2020/06/17 11:15 = o % E|_I = |7:| = = _l o E Sona rQU be
O 4s [Static]Bug Constructor new RDM.RDMSystem() makes call to non-final method 2020/06/17 11:11 == o —_ o
O a4 [Static]Code Smell Missubg curly brace 2020/06/17 11:11 == Eol 39|- O | '|T9|- OH 7E:| %)l- I:é-l 0" LH %E %
O a3 [Static]Bug Mon deriable method GUI.RDMMain.main(String[]) throw exception 2020/06/17 11:11 == Ao O
O 42 [Static]Code Smell Add a default case to this switch 2020/06/17 11:10 = _|_ AN El-

2% >

BEES R A String SAES + BARE A2EM L7 2F

BIEEHCE 43T B2 4= =£0| 1 EHE = 2ZE. Stringbuildertt concat = A2 AD

7 http://54.227.102.252:9000/project/issues?id=DWSopen=AXLA]gGZ ctiXNgvcC)BX&resolved=falsedtypes=BUG
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Buzz 22|75 Of 2t5t Test =7}

B » o
Z=7tEl Category Partition Test Z7L=l Pairwise Test

Group+ Category< Value« o mode« status«’ button« Time«’ Data: T/F:
mode< modes< & = SoundBuzzer- Pause< Adjust< Under3s< validData
soundBuzzer™ Start” Forward Under3s® | validData
< & SoundBuzze® | SoundBuzzer® |  Shows Mode= Under3se | validData:
\ 4
Test Category+
Case Key< ¢
B & Mode | Status:| Button<’| Time< Data® | T/F¢] Brute Forse Test
52¢7| 9.1.2.1.2¢| SoundBuzzer | Show<| Mode< | Under3s ValidData<’ | T<| No< | Refe' | UseCase Detaile’ Zate |
53¢’ | 9.2.2.1.2¢] SoundBuzzers| Start<| Mode<’ | Under3s¢q ValidData<’ | Te |¢ 43¢ | 91¢ | Beep Buzze' | Timer/} & &[S [f HE0| E2|= 7t < Ta
40| 932100 Smdauzzer paused  Mode= | Under3sd Val,dData_ =l 46¢ | 9.2¢ | Stop Buzze® | BuzzZt 2% [, HES =2X| %1 Qo A% 2| T
55¢| 94.2.1.2¢| SoundBuzzers| Set<’ | Mode<' | Under3s¢| ValidData<’ | T<'| Ol sZSH 22I=7t <




5. Static Analysis Test 22F (B2)

 Qverride

Add the "@Override" annotation above this method signature«

public veid paintComponent(Graphics g) {

Add the "@Override™” annotation above this method signature \Why is this an issue?
@ Code Smell > @ Major~ O Open~ ETE|X| g8 ~ Sminefiot IHE

Override =7} #1«

Alarm_Pane java line 34 _48 134«

SetMode Pane java 31,45 114«
Stopwatch FPane java 31,45, 125«
TimeKeeping_Pane _java 33 47 133«
Timer_Pane java 32 46 127¢
WorldTime_Pane java 31,45 126 200,208,211«

ModeManager java 48«

« Duplicate Code Block

This case's code block is the same as the block for the case«

e v
getTimeKeepingPane().getCursorLabel()[5].setVisible(true);
for(int i-@; i<4; i++) getTimeKeepingPane().getCursorLabel()[i].setVisible(false);
break;

case 1:
getTimeKeepingPane().getCursorLabel()[4].setVisible(true);
for(int i-0; i<6; i++){
if(i != 4) getTimeXKeepingPane().getCursorLabel()[i].setVisible(false);

}

break;
case 5:
getTimeKeepingPane().getCursorLabel()[0].setVisible(true);
for(int i=1; i<6; i++)getTimeKeepingPane().getCursorLabel()[i].setVisible(false);
break;
case 6:
getTimeKeepingPane().getCursorLabel()[S].setVisible(true);
for(int i-@; i<4; i++) getTimeKeepingPane().getCursorLabel()[i].setVisible(false);

break;
This case's code block is the same as the block for the case on line 1019. \Why is this an issue? 13 M v L1054 S
@ Code Smell v @ Majorv O Open~v FEEHA &8 v 10mineffort THUE ® Notags +

njo

Case 0, Case 6 O] Z2 L{EE #1 g«

Ex) Case 0 : case6 : (code) break;<

watchGUl java 1054->1019 ,1060->1029 «
CalorieCheck java 103-=91¢

ModeManager java 208
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